RIVR, Fob
Ty x—f&

L2
L1 W
(EAN mm )
~+ B TR % F S b R =

K o F0E yF | I &b Ny *xv | 7)9—s—}

IOV d L1 L2 p W BoxX KM | BEIXEXES | M X B

W - 400 470 350 245 49.0 538 M8 X 6 A& [3 X 300 X 1530 150 X 350

W - 450 h24 350 240 55.0 592 M8 X 6 A& [3 X 350 X 1700 150 X 350

W - 500 H82 400 275 61.0 650 M8 X 6 A |3 X 400 X 1880 150 X 400

W - 600 700 500 345 73.0 768 M8 X 8 A |3 X 500 X 2250 200 X 500

W - 700 816 550 365 86. 0 884 M8 X 8 A& |3 X 550 X 2620 200 X 550

W - 800 938 650 430 98.0 1,006 M8 X 10 A |3 X 650 X 3000 250 X 650

W - 900 1, 060 750 475 110.0 1,128 M8 X 10 A |3 X 750 X 3380 250 X 750

W -1000 1,178 850 545 122.0 1,246 M8 X 10 A |3 X 850 X 3750 300 X 850

W -1200 1,388 950 640 147.0 1,456 M8 X 10 A |3 X 950 X 4410 300 X 950

F EAEHOLAEDOHR, NyF U RO ) Y—— e,
il JUVERNETINT L AEH
B 2017.08. 03

%) SLCHEF AL - A AN

TIEFE'19- %S

I

CWP-S0004-00




